NWT 4 Linux & Windows 19 czerwiec 2019, 00:43

Start_czest: 6.550000 MHz; Stop_czest: 6.555300 MHz; Krok: 0.005 kHz

Préby: 1001; Przerwanie:

MHz

10
de

-10

-20

-40)

-50

-60

=70

-80

no_label

Kursor 1:
6.551738 MHz
Kanat 1: -6.16dB
Kursor 2:
6.554341 MHz
Kanat 1: -6.16dB
Kursor 3:
6.551124 MHz
Kanat 1: -34.43dB
Kursor 4:
6.553032 MHz
Kanat 1: -3.31dB
Kursor 5:
6.551235 MHz

5.35310

Siatka osix: 1.0 kHz

6.3520 5.23540

£.3530 5.35350

Kanat 1: -30.63dB

Kanat 1

max :-1.04dB 6.553397MHz
min :-63.64dB 6.550021MHz
B3dB : 2.507 kHz

Q: 2614.00

f1: 6.551781 MHz

fm: 6.553034 MHz

f2: 6.554288 MHz

B6dB : 2.629 kHz

f1: 6.551723 MHz

f2: 6.554351 MHz

B60db: keine



